8035945

/ -1 300 I ORDER -, LL(:_...-.
: 30] 36575 DRIVE - KER_HUILLllgaTBxl ‘:;n - O '

Remote hood release

# 62-30030

Kit Parts List

1x Remote hood release assembly

1x Release cable

1x Cable bracket

2x #14 SS pan head screws

3 x5/16”-18 x 1” bolts (pre installed)
1x5/16”-18 x 1-1/4” (pre installed)
1 x 5/16”-18 lock nut (pre installed)
4 x 5/16 flat washers (pre installed)

4 x 5/16 blind nuts (pre installed)

1 x #6-32-3/4” button cap (pre installed)
1 x #6 flat washer (pre installed)

1 x lobe washer (pre installed)

1x spring (pre installed)

Tools needed

Screw driver #2 Phillips
15" nut driver/socket

12” wrench

8mm wrench

Drill

Installation Tips/pointers

Before installing this kit adjust your hood bumpers and release to be sure the hood opens
and closes Easley and the hood fits evenly with the fenders, this will insure that it will not
take a lot of effort to actuate the hood release cable.

Release knob can be upgraded with 72-21123 to match dash knobs.



REMOVAL

1. Raise and support the hood.

2. Remove the four bolts that secure the hood latch assemble to the latch bracket
support and remove the latch assembly.

INSTALLATION

1. Position the hood latch cable release under the dash panel. Using the mounting
bracket as a template, mark and drill the two holes. Secure the mounting bracket
with the two provided SS #14 screws.

2. Locate an existing hole or drill a hole on the firewall for the release cable to exit
to the engine compartment. See Figure 3

3. Route the cable along the driver’s side inner fender and to the radiator core
support. See Figure 3.

4. Locate an existing hole in the core support for the release cable to pass to the front

of the core support. If none are available drill a 1/2” hole

Route the cable to the hood latch release.

Insert the cable into the release bracket and secure it with the nut.

7. Insert the cable end into the release lever. Make sure you have the spring on the

screw and tighten the screw on the lever to secure it.

Lower the hood and check for proper release function.

9. Position the BC Broncos Remote Release Hood Latch under the latch bracket.
Secure the hood latch using the four provided bolts, install the longer bolt on the
passenger side nearest the grill slip on the lobe washer with the spring over the
bolt and install the nut. Hand tighten only at this point. See Figure 2.

10. Lower the hood carefully to the latch. Shift the hood latch until the hood catch pin
is centered in the hood latch opening.

11. Tighten the bolts securing the hood latch.

12. Tighten the 5/16” nylock nut.

AN

*®

NOTE: The hood pin may have to be adjusted to keep the hood from rattling. Loosen the
large tinnerman nut and screw the hood pin up or down to adjust. After the
adjustments are complete, retighten the tinnerman nut.

13. Seal the release cable at the point it exits the firewall using an appropriate sealant,
silicone, RTV, etc.
14. Secure the release cable along the inner fender wall. See Figure 3.



- BOLT
EA/ LOCK WASHER

CORE SUPPORT

BOLT

LOCKWASHER g

SUPPORT

(REF) |

HOOD RELEASE
MECHANISM

RELEASE CABLE

NUT %
SPRING

PASS RELEASE CABLE THROUGH
RELEASE THIMBLE AND SECURE BY FIGURE 2
TIGHTENING ALLEN SET SCREW

RELEASE CABLE

FIGURE 1



FIRE WALL

FIND AN EXISTING HOLE OR DRILL A 1/2"
HOLE TO PASS THE RELEASE CABLE THRU
THE FIRE WALL APPRO X AS SHOWN

AFTER ROUTING THE RELEASE CABLE AND CHECKING
FOR SMOOTH OPERATION SECURE THE RELEASE
CABLE TO THE DRIVER SIDE INNER FENDER  WELL

FIND AN EXISTING HOLE OR DRILL A 1/2"
HOLE TO PASS THE RELEASE CABLE THRU
THE CORE SUPPORT IN APPROX THE AREA SHOWN

) FIGURE 3



	62-30030 remote hood release rev2
	62-30030 remote hood release pg 2
	62-30030 remote hood release pg3 
	62-30030 remote hood release pg4

